Frequency tables
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Statistics 2 - Averages and

Spread

@ Section 7.4 Frequency tables

{ Example 1 )

Aroad-check on 30 motor vehicles yielded the following record of the number of
occupants each carried:

25 Uy &5 45 5y &5 25 Up 2 8 Uy g 24 45 (5 55 4y 25 2 U Uy 24, 45 & 8%, 24 (&) 24 55 &

Make out a frequency table of the above data and find the mean and mode of the
distribution.




Exercise 7.4
1. Thirty students in a class were given a test which was marked out of 10.

The results of the test are shown below.
A6,7,59,86,43,56,9,8,7,610,4/3,6,7,9,8,5,3,247,9,10,5

Copy and complete the frequency table shown below:
10

Marks per student 1 7 3 4 5% 6 9
4 2 =70

7 8
Number of students | | 3.3 4 s 4 3

From the table, write down the number of students who got

() 5marks & (i) 8marks 3 shuclmbs (i) 10 marks. 2 s budenmls
What mark was got most frequently? H ode/ (| Oddl

Sstudenb scoed Emanks € Mode

2. Afactory produces 50 television sets per day.
Tests at the end of one day gave rise to the following data:

Number of faults perset 0 1 2 3 4 5
Number of sets 1 8 12 | 1 9 5
(i) How many sets had no fault? 1 Tv
(i) How many sets had 6 faults? &4 TVs

(iii) What was the modal number of faults? 2 mode
(iv) What was the total number of faults recorded in all the sets?

(v) F{i’ndthe mea;numberoff;utl;‘cs perset.33 2 2!') ( 24
Cixo)4+(ex1)+Caxz )+ (11x3) + (axt) +(5x5)+(uxs

=No of Faulks = [50

'rohil hool: FMH" :_'_EZ..Q :3
No‘ O'F ’er 50




3. The table below shows the numbers of goals scored in a numberlof hockey matches on

a Sunday morning.

Goals scored o 2 4 5 6
Number of matches 14 16 8 6 8 =
£ matohes

(i) In how many matches were 6 goals scored?

)

(i) What was the modal number of goals scored? 2 30Gl5
)
)

(iii) What was the total number of goals scored?
(iv Fmd the mean number of goals scored. 30 ( q &)
(sxe) +(6x8

(l‘-hcl)'l' ('6x2)+(3x3)+ (sxq).;
fotal no. d goals seored =130

| ¥0 | 60
IUHCLEHEI6EE — 60 — S geals

4. The following frequency table shows the numbers of goals scored in &0 football

matches. Mode
Goals scored 1 2 2 4 5 6
Number of matches 15}' 14J 9 l 6 ') 10') 63'

(i) Find the mean number of goals scored per match.
(i) What was the modal number of goals scored?
(i) Inwhat percm:::fthe matches were 3 or 4 goals scored?
(iv) Find the greatest number of matches which could have ended in a draw.

Cisxt)4 (mx2)+ Cax3)+ (ex«)+ (1oxs )+ (xs)
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5. Adice was thrown 30 times.
The results are shown here.
Score 1 2 3 4 5
Frequency 3 4 6 8 7 2

Find the mean score.

6. Carolis trying to estimate how many words she has written in an essay.
She records the number of words she wrote on each line of one page.
Her results are given in the table below.

Words perline 10 11 12 13 14 15
No. of lines 1 |3 6 (9 |7 |4

(i) How many lines in total were there on the page?
(i) How many lines contained 14 words?

(i) What was the modal number of words per line?
(iv) Calculate the mean of the distribution.

Mip inTeRVAL VALues

7. The marks of 36 students in third-year are given below:

31 40 87 79 40 29 66 71 73 19 #T #7781 67 40 3720 84
65 73 g0 54 50 5425 89 21 91 84 77 18 37 5 M 72 38

Copy and complete the groilg?? frequge&}y ta@s'?elo%'r 90T
Marks 1-20 | 21-40 41-60 61-80 81-100| —> Intervals

Number of students 3 = | I q 5

(i) How many students scored between 21 and 60 inclusive? F+1= 18 HQM - Use _H'"'
(il Whatis the modal class? Y4l-60 wid II"I"“VG' VMs
(i) Which class had the second largest number of students? &[- &0 . |4
Funu

(iv) Name one disadvantage of a grouped frequency table. ‘Hgl- aCfWGI'C.
1) Fund Hae middle of e wherval
[i=20] Add He values amd divide byz 36

z 2
Izl—tm 21440 4

Clo-sx3)4 C30-sx3)+ (sa-sxn)
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z 2
21-4o o
[ 21440 _ 61 _ 305
Hiw = =
8. People attending a course were asked to choose one of the whole numbers from
1to 12.The results were recorded as follows:

Number 1-3 4-6 7-9 10-12
No. of people 3 17 2 8

(i) Write down the modal class of the distribution.
(i) Use the mid-interval value of each class to estimate the mean of the distribution.

9. The frequency table shows the numbers of books bought by 20 pupils in the past year.

Number of books 0-4 5-9 10-14 15-19
Frequency 2 4 6 8

Find an estimate for the mean number of books bought by each pupil.



10. Use the mid-interval values to estimate the mean of the following frequency

distribution:
Class 14-16 16-18 18-20 20-22 22-24
Frequency 1 5 12 8 0

Give your answer correct to one decimal place.

11. One hundred people were asked to record the numbers of mobile phonecalls they
received on a particular day. The results are shown in the table below.

No. of calls 0-4 5-9 10-14 15-19 20-24

Frequency 45 29 17 8 1

(i) What is the modal group?

(ii) What is the greatest number of people who could have received more than 18

calls?
(iii) What is the least number of people who could have received less than 8 calls?

(iv) Use the mid-interval values to find an estimate for the mean number of phonecalls

received.
Give your answer correct to the nearest whole number.



12. The table below shows the distances travelled by seven paper airplanes after they were

thrown.
Airplane A B C D E F G
Distance(cm) 188 200 250 = 30 380 330 302

() Find the median of the data.
(ii) Find the mean of the data.

(iii) Airplane D is thrown again and the distance it travels is measured and recorded
in place of the original measurement. The median of the data remains unchanged
and the mean is now equal to the median. How far did airplane D travel the
second time?

(iv) What is the minimum distance that airplane D would need to have travelled in
order for the median to have changed?

Exercise 7.4

1. (i) 4 (ii) 3 (iii) 2; 6 marks
2. ()1 (i) 4 (i) 2
(iv) 150 (v) 3
3. ()8 (i) 2 (iii) 180  (iv) 3
4, (i) 3 (i) 1 (iii) 25% (iv) 26
B 3.6
6. (i) 30 (i) 7 (ii)) 13 (iv) 13
7. (i) 19 (i) (41-60) (iii) (61-80)
(iv) Exact mean cannot be found from table
8. (i) (4-6) (i) 6.5
9. 12
10. 186
11. (i) (0-4) (i) 9 (iii) 45 (iv) 7
12. (i) 250cm (ii) 240cm

(iii) 100 cm (iv) 251cm



